p| Homework 8.1 — Sigma Notation and Summations

1. (1 pt) alfredLibrary/AUCI/chapter8/lessonl/quiz/sumdpet.pg
Find the numerical value of each sum without using the “sum-
mation formulas.”

7
@ Y (3k—1)=
k=2

(b) )7:(1.:2 —k)=
=4

2. (1 pt) alfred Library/AUCI/chapterf/lessonl/sumépet.pg
Use the “summation formulas™ to express the following sum in
closed form. Your answer should be in terms of n.

Y @+2%)?=
=1

(HINT: You must first expand (2+ 2k)2).
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3. (1 pt} alfredLibrary/AUCVchapier8/lessonl/sumS8pet.pg
(a) Use the "summation formulas™ to find a closed form for the
sum. Your answer will be in terms of n.

¥ (7—6k+ K2 +6%) =
=1

(b) Use the closed form from part (a)} to find the sum.

i;s (7—6k+k%+6k%) =
k=1

4. (1 pt) alfredLibrary/AUC/chapier8/lessonl/sum2pet pg
Use the “summation fonnulas™ to express the following sum in
closed form. Your answer should be in terms of r.

£ (22)'

k=1

k 2
(HINT: You must first expand (2 +3. ;) ).



